The stick number of any knot K, denoted by s(K), is the smallest number
of edges of a polygon equivalent to K.
How many knots can we make with 3 sticks?
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Stick number
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(Note: The only knot with a projection with 2 or fewer crossings is the
unknot).

How many knots can we make with 4 sticks?
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How many knots can we make with 5 sticks?
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In fact, a knot with 4 sticks can have at most 1 crossing.

HOS cmEsHNaL 0
(W founs +her s pons = RSN
& Qiogps™ were 1 W B),oma (AR v, Q/\)Q Shex 220,

her A i formed Y G
v N . Nz )
Shoke 2 13 Aonmed bg ! Wy % , SEVEV!
Tha Qe W which N },\/2 s\'\c):‘—\(_\ 3V
e on'ecﬁov\ & shek i -
Qies " duuiden the J o \/O @ ?2
?Q@f\a ‘\Y'\ 2 ?afb b P ~ J @
2 Q

?l omd ?2 - . 11/49



We can make the trefoil knot with 6 sticks.
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